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Conjugate:
x-a / x+a
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x^3 - y^3 = (x-y)(x^2+xy+y^2)

A
8y^3 = (2y)^3
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C

(x-y)^2 = x^2 -2xy -y^2
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D
supplement = 180
180 = 45 + x 
180 - 45 = x 
x = 135
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X-1
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X = (3√y - 5)/2
2x = 3√y - 5
2x+5 = 3√y
(2x+5)^3 = y 
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D
Range of 1-√x+2 = (-∞,1}
domain of if^-1(x)is range of f(x)
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D: -2
(x,y)=(a,a)
a(a)+4a=-4
a^2 + 4a +4=0 
Mode: 5,3 
a= -2
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A kx-k = 4 
k (3) - k = 4
k (3-1) = 4
2k = 4 , k= 2
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x/2x = 1/2
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B
a should be all real numbers EXCEPT 
numbers that give you y for any point
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If x-> 1
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B 
log a-2 (x+1) = a 
x+1 = (a-2)^a
a-2 must be greater than 1 to be increasing 
a > 3 
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D
3(x+3) = 3x -9 
3x + 9 = 3x -9 
3x - 3x = -9 -9 
0 = 18 (Ø)
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D
x = 1
1^4 = k - 1^4
1 = k -1 
k = 2
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A
x^2 + 20 - 4 = 0 
x^2 + 16 = 0
Mode 5,3
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in 2^x = in 3^2x-1 
x in 2 = (2x-1) in 3 
x in 2 = 2x in 3 - in 3
2x in 3 - x in 2 = in 3 
x (2 in 3 - in 2) = in 3 
x = in 3 / (2 in 3 - in 2)

D
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conjugate = 1-i
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D: -7
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B
x^2+7x+12 = (x+3)(x+4)
(x+3)(x+4) / (x+3) 
x + 4 = -3 + 4 = 1
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a+bi , pure imaginary number a = 0 
z= a + bi - 2 
2 = a + bi .   
2 = a (meaning a=0) 
2 = 3x - √5 , 2 + √5 = 3x 
x = (2 + √5) / 3
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C
-3/2 x + 4 = 7 
- 3/2 (2a) + 4 = 7 
- 3/2 (2a) = 3 
2a = -6/3 , 2a = -2 
a = -1
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ab (1/a - 1/b) 

تاماقملا ديحوت  
ab ( (b-a)/ab)
b - a (ab is deleted with ab) 
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ax^2 , if a>0 then open up 
if a < 0 then open down 
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F(x)= log 1/2 (x+2) 
F(2) = log 1/2 (2+2)
F(2) = log 1/2 (4)
By calcuator f(2) = -2
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Basafetida
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A
5x^2 - tx^2 = x^2 (5-t)
-5z + tz = -z (5-t) 
then (x^2 - z) (5-t)
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C
3(-1)^4 + (-1) +1 / (-1+4) 
3/3 = 1
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B
x = √3+y 
x^2 = 3+y 
x^2-3 = y

x = y^2 - 3
x+3 = y^2 
√x+3 = y or
√3+x = y 
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